2. VARIOUS FURNITURE FOR LAW ENFORCEMENT TRAINING CENTER -- FACILITIES PROJECT SERVICES FUNDING -- LETC CIP

(Request sent to 81 vendors)

RFB #17-0084 S/C #8000115197

	<u>0084 S/C #800011319</u>			Interiors d	Integrated ba Scott Rice Works	Commerci	ontract and ial, Inc., dba ness Advantage	John A. M	Iarshall Co.	Furniture by	William Webb
Item#	Manufacturer Part Number	Description	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1.	SitOnIt 5642	SitOnIt Focus Side Chair	85	\$172.36	\$14,650.60	\$162.82	\$13,669.70	\$153.00*	\$13,005.00	\$197.00	\$16,745.00
2.	SitOnIt 1011 FT1	SitOnIt Lumin Four Leg	100	\$121.61	\$12,161.00	\$110.00	\$11,000.00	\$94.40*	\$9,440.00	\$135.00	\$13,500.00
3.	SitOnIt Torsa 6023	SitOnIt Torsa (Fog Striped)	10	\$355.51	\$3,555.10	\$341.42	\$3,414.20	\$322.12*	\$3,221.20	\$460.00	\$4,600.00
4.	SitOnIt Torsa 6023	SitOnIt Torsa (Onyx Striped)	24	\$355.51	\$8,532.24	\$341.42	\$8,194.08	\$322.12*	\$7,730.88	\$460.00	\$11,040.00
5.	CLARUS	4'x8' Colors By Clarus Float Glassboard	8	\$2,111.75	\$16,894.00	No Bid		\$1,629.88	\$13,039.04	\$2,288.00	\$18,304.00
6.	CLARUS	BOX TRAY (Magnetic)	6	\$43.47	\$260.82	No Bid		\$46.65	\$279.90	\$93.50	\$748.00
7.	Peter Pepper	PETER PEPPER 72w X 72h X 18D GLIDING DOOR GLASS CASE; NATURAL	1	\$5,899.00	\$5,899.00	No Bid		\$6,627.14	\$6,627.14	\$6,911.50	\$6,911.50
8.	Peter Pepper	PETER PEPPER 72w X 48h X 18D GLIDING DOOR GLASS CASE; NATURAL	1	\$4,766.50	\$4,766.50	No Bid		\$4,405.86	\$4,405.86	\$5,705.80	\$5,705.80
9.		LINEAR LIGHTING LOW VOLTAGE HALOGEN FOR 72W CASE	1	\$876.71	\$876.71	No Bid		\$1,182.86	\$1,182.86	\$1,057.00	\$1,057.00
10.		4"H PLINTH FOR LIGHTING	1	\$103.00	\$103.00	No Bid		\$138.57	\$138.57	\$124.00	\$124.00
11.	National Office Furniture	RENO,24DX24W,END TABLE,SQUARE, LAMINATE	1	No Bid		\$485.76	\$485.76	\$301.19*	\$301.19	\$552.00	\$552.00
12.	National Office Furniture	SWIFT,ONE SEAT LOUNGE	1	No Bid		\$965.80	\$965.80	\$727.61*	\$727.61	\$1,097.50	\$1,097.50
13.	National Office Furniture	FRINGE,BENCH, TWO SEAT	2	No Bid		\$765.60	\$1,531.20	\$614.96*	\$1,229.92	\$870.00	\$1,740.00
14.	National Office Furniture	FOOTINGS,40WX28H,X BASE,STATIC	22	No Bid		\$306.68	\$6,746.96	\$285.05	\$6,271.10	\$348.50	\$7,667.00
15.	National Office Furniture	FOOTINGS,48DIA, ROUND TOP,HPL	22	No Bid		\$399.08	\$8,779.76	\$370.95	\$8,160.90	\$453.50	\$9,977.00

16.	Herman Miller	+Connect Single Circuit Electrical By-Pass Jumper, 12"	1	No Bid	No Bid		\$39.32	\$39.32	\$38.04	\$38.04
17.	Herman Miller	+Connect Single Circuit Electrical Power Entry, 10' cord	1	No Bid	No Bid		\$200.49	\$200.49	\$193.95	\$193.95
18.	Herman Miller	+Connect S740 Single Circuit Power Unit, 2 simplex	2	No Bid	No Bid		\$209.14	\$418.28	\$202.31	\$404.62
19.	National Office Furniture	FOOTINGS,28DX100WX2 8H,Y BASE KIT PLATINUM METALLIC	1	No Bid	\$362.56	\$362.56	\$378.95	\$378.95	\$412.00	\$412.00
20.	National Office Furniture	FOOTINGS,48DX120W,B OAT TOP,HPL SOFTENED PVC,SABLE	1	No Bid	\$868.95	\$868.95	\$888.16	\$888.16	\$772.50	\$912.50
21.	National Office Furniture	ACQUAINT,BARIATRIC,S LAT BACK,ARMS	2	No Bid	\$744.04	\$1,488.08	\$1,077.45	\$2,154.90	\$845.50	\$1,691.00
22.	National Office Furniture	ACQUAINT,GUEST,HALF UPH	3	No Bid	\$447.04	\$1,341.12	\$484.70	\$1,454.10	\$508.00	\$1,524.00
23.	INSPIRE-M	ARCHITEX,	6 yds	No Bid	\$72.76	\$436.56	\$81.33	\$487.98	\$61.87	\$371.22
24.	National Office Furniture	ACQUAINT,GUEST, FULLY UPH	6	No Bid	\$462.44	\$2,774.64	\$344.34	\$2,066.04	\$525.50	\$3,153.00
25.	INSPIRE-M	ARCHITEX	24 yds	No Bid	\$72.76	\$1,746.24	\$81.33	\$1,951.92	\$61.87	\$1,484.88
26.	National Office Furniture	SWIFT,ONE SEAT LOUNGE	3	No Bid	\$1,023.44	\$3,070.32	\$639.41	\$1,918.23	\$1,163.00	\$3,489.00
27.	9141977	MOMENTUM TEXTILES	24 yds	No Bid	\$94.94	\$2,278.56	\$105.33	\$2,527.92	\$80.13	\$2,035.16
28.	National Office Furniture	RENO,24DX24W,END TABLE,SQUARE, LAMINATE	4	No Bid	\$485.76	\$1,943.04	\$703.43	\$2,813.72	\$552.00	\$2,208.00
29.	National Office Furniture	CONFERENCE,32WX28H, FOUR STAR	1	No Bid	\$229.24	\$229.24	\$254.77	\$254.77	\$260.50	\$260.50
30.	National Office Furniture	WAVEWORKS,42DIA,SU RFACE,ROUND,HPL SOFTENED PVC,SABLE	1	No Bid	\$165.44	\$165.44	\$183.78	\$183.78	\$248.00	\$248.00
31.	National Office Furniture	CONFERENCE,32WX28H, FOUR STAR	1	No Bid	\$229.24	\$229.24	\$254.77	\$254.77	\$260.50	\$260.50
32.	National Office Furniture	WAVEWORKS,42DIA, SURFACE,ROUND,HPL	1	No Bid	\$165.44	\$165.44	\$183.78	\$183.78	\$248.00	\$248.00

	N. C. and O.C.	ECOMPAGE TOWNSON AT		T				I		
33.	National Office Furniture	FOOTINGS,40WX28H,X BASE,STATIC	3	No Bid	\$306.68	\$920.04	\$290.14	\$870.42	\$348.50	\$1,045.50
34.	National Office Furniture	FOOTINGS,48DIA, ROUND TOP,HPL	3	No Bid	\$399.08	\$1,197.24	\$377.57	\$1,132.71	\$344.50	\$1,033.50
35.	Herman Miller	+Connect Single Circuit Electrical Power Entry, 6' cord	2	No Bid	No Bid		\$84.32	\$168.64	\$185.17	\$370.34
36.	Herman Miller	+Connect Ganging Bracket Kit	14	No Bid	No Bid		\$20.28	\$567.84	\$31.35	\$438.90
37.	National Office Furniture	BASE SUPPORT,21WX28H,T- LEG BASE,STATIC, PLATINUM,PKG	10	No Bid	\$310.20	\$3,102.00	\$145.15	\$1,451.50	\$352.50	\$3,525.00
38.	Herman Miller	+Connect S740 Single Circuit Power Unit, 2 Simplex Rcpt, 1 Data	10	No Bid	No Bid		\$170.95	\$1,709.50	\$247.46	\$2,474.60
39.	Herman Miller	+Connect Single Circuit Electrical By-Pass Jumper, 12" long	4	No Bid	No Bid		\$36.86	\$147.44	\$38.04	\$152.16
40.	National Office Furniture	ACCESSORIES,48WX12H, MODESTY PANEL,RESIN	10	No Bid	\$205.92	\$2,059.20	\$129.47	\$1,294.70	\$234.00	\$2,340.00
41.	National Office Furniture	WAVEWORKS,30DX30W, SURFACE,QUARTER ROUND,HPL	4	No Bid	\$170.72	\$682.88	\$159.66	\$638.64	\$194.00	\$776.00
42.	National Office Furniture	WAVEWORKS,30DX60W, SURFACE, RECTANGULAR DESK,HPL	10	No Bid	\$178.20	\$1,782.00	\$322.31	\$3,223.10	\$262.50	\$2,625.00
43.	National Office Furniture	FRINGE,CLUB CHAIR,ARMS,STATIC	2	No Bid	\$934.12	\$1,868.24	\$346.28	\$692.56	\$1,061.00	\$2,123.00
44.	6416-13	CARNEGIE FABRICS	16 yds	No Bid	\$100.00	\$1,600.00	\$113.33	\$1,813.28	\$86.22	\$1,429.50
45.	National Office Furniture	RENO,24DX24W,END TABLE,SQUARE, LAMINATE	3	No Bid	\$485.76	\$1,457.28	\$703.43	\$2,110.29	\$1,061.50	\$3,184.50
46.	National Office Furniture	FRINGE,HIGH BACK,TWO SEAT,ARMLESS, CONTRASTING	4	No Bid	\$1,581.36	\$6,325.44	\$1,594.44	\$6,377.76	\$1,797.00	\$7,188.00
47.	9141988	MOMENTUM TEXTILES	20 yds	No Bid	\$92.94	\$1,858.80	\$105.33	\$2,106.60	\$80.13	\$1,639.08

				Encompas	Corporation		Business nent, Inc.	Daniksco	of Kansas dba o Business ons, LLC
Item#	Manufacturer Part Number	Description	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1.	SitOnIt 5642	SitOnIt Focus Side Chair	85	\$171.35*	\$14,564.75	No Bid		No Bid	
2.	SitOnIt 1011 FT1	SitOnIt Lumin Four Leg	100	\$125.00*	\$12,500.00	\$104.50*	\$10,450.00	\$102.25*	\$10,225.00
3.	SitOnIt Torsa 6023	SitOnIt Torsa (Fog Striped)	10	\$377.60*	\$3,776.00	\$291.00*	\$2,910.00	\$250.72*	\$2,507.20
4.	SitOnIt Torsa 6023	SitOnIt Torsa (Onyx Striped)	24	\$377.60*	\$9,062.40	No Bid		No Bid	
5.	CLARUS	4'x8' Colors By Clarus Float Glassboard	8	\$1,719.28	\$13,754.24	No Bid		No Bid	
6.	CLARUS	BOX TRAY (Magnetic)	6	\$60.30	\$361.80	No Bid		No Bid	
7.	Peter Pepper	PETER PEPPER 72w X 72h X 18D GLIDING DOOR GLASS CASE; NATURAL	1	\$6,532.52	\$6,532.52	No Bid		No Bid	
8.	Peter Pepper	PETER PEPPER 72w X 48h X 18D GLIDING DOOR GLASS CASE; NATURAL	1	\$5,269.43	\$5,269.43	No Bid		No Bid	
9.		LINEAR LIGHTING LOW VOLTAGE HALOGEN FOR 72W CASE	1	\$887.40	\$887.40	No Bid		No Bid	
10.		4"H PLINTH FOR LIGHTING	1	\$887.40	\$887.40	No Bid		No Bid	
11.	National Office Furniture	RENO,24DX24W,END TABLE,SQUARE, LAMINATE	1	\$722.07*	\$722.07	\$293.01*	\$293.01	\$274.44*	\$274.44
12.	National Office Furniture	SWIFT,ONE SEAT LOUNGE	1	\$796.63*	\$796.63	\$496.16*	\$496.16	\$485.48*	\$485.48
13.	National Office Furniture	FRINGE,BENCH, TWO SEAT	2	\$756.58*	\$1,513.16	\$545.07*	\$1,090.14	\$1146.02*	\$2,292.04
14.	National Office Furniture	FOOTINGS,40WX28H,X BASE,STATIC	22	\$388.68*	\$8,550.96	\$180.57*	\$3,972.54	\$185.69*	\$4,085.18
15.	National Office Furniture	FOOTINGS,48DIA, ROUND TOP,HPL	22	Included*		\$175.14*	\$3,853.08	\$196.73	\$4,328.06
16.	Herman Miller	+Connect Single Circuit Electrical By-Pass Jumper, 12"	1	Included w/item 20*		No Bid		No Bid	

17.	Herman Miller	+Connect Single Circuit Electrical Power Entry, 10' cord	1	Included w/item 20*		No Bid		No Bid	
18.	Herman Miller	+Connect S740 Single Circuit Power Unit, 2 simplex	2	Included w/item 20*		No Bid		No Bid	
19.	National Office Furniture	FOOTINGS,28DX100WX2 8H,Y BASE KIT PLATINUM METALLIC	1	Included w/item 20*		\$343.59*	\$343.59	\$336.20*	\$336.20
20.	National Office Furniture	FOOTINGS,48DX120W,B OAT TOP,HPL SOFTENED PVC,SABLE	1	\$2,090.05*	\$2,090.05	\$402.53*	\$402.53	\$408.18*	\$408.18
21.	National Office Furniture	ACQUAINT,BARIATRIC,S LAT BACK,ARMS	2	\$596.27*	\$1,192.54	No Bid		\$710.84*	\$1,421.68
22.	National Office Furniture	ACQUAINT,GUEST,HALF UPH	3	\$451.87*	\$1,355.61	No Bid		\$651.13*	\$1,953.39
23.	INSPIRE-M	ARCHITEX,	6 yds	\$70.50	\$423.00	No Bid		Included	
24.	National Office Furniture	ACQUAINT,GUEST, FULLY UPH	6	\$431.92*	\$2,591.52	No Bid		\$651.13*	\$3,906.78
25.	INSPIRE-M	ARCHITEX	24 yds	\$70.50	\$1,692.00	No Bid		Included	
26.	National Office Furniture	SWIFT,ONE SEAT LOUNGE	3	\$738.35*	\$2,215.05	No Bid		No Bid	
27.	9141977	MOMENTUM TEXTILES	24 yds	\$89.10	\$2,138.40	No Bid		No Bid	
28.	National Office Furniture	RENO,24DX24W,END TABLE,SQUARE, LAMINATE	4	\$722.07*	\$2,888.28	No Bid		\$274.44*	\$1,097.76
29.	National Office Furniture	CONFERENCE,32WX28H, FOUR STAR	1	\$360.00*	\$360.00	No Bid		No Bid	
30.	National Office Furniture	WAVEWORKS,42DIA,SU RFACE,ROUND,HPL SOFTENED PVC,SABLE	1	Included		No Bid		No Bid	
31.	National Office Furniture	CONFERENCE,32WX28H, FOUR STAR	1	\$360.00*	\$360.00	No Bid		No Bid	
32.	National Office Furniture	WAVEWORKS,42DIA, SURFACE,ROUND,HPL	1	Included		No Bid		No Bid	

33.	National Office Furniture	FOOTINGS,40WX28H,X BASE,STATIC	3	\$397.60*	\$1,192.80	No Bid	\$185.69*	\$557.07
34.	National Office Furniture	FOOTINGS,48DIA, ROUND TOP,HPL	3	Included		No Bid	\$196.73*	\$590.19
35.	Herman Miller	+Connect Single Circuit Electrical Power Entry, 6' cord	2	\$238.40*	\$476.80	No Bid	No Bid	
36.	Herman Miller	+Connect Ganging Bracket Kit	14	\$41.67*	\$583.38	No Bid	No Bid	
37.	National Office Furniture	BASE SUPPORT,21WX28H,T- LEG BASE,STATIC, PLATINUM,PKG	10	\$530.30*	\$5,303.00	No Bid	No Bid	
38.	Herman Miller	+Connect S740 Single Circuit Power Unit, 2 Simplex Rcpt, 1 Data	10	\$280.75*	\$2,807.50	No Bid	No Bid	
39.	Herman Miller	+Connect Single Circuit Electrical By-Pass Jumper, 12" long	4	\$49.85*	\$199.40	No Bid	No Bid	
40.	National Office Furniture	ACCESSORIES,48WX12H, MODESTY PANEL,RESIN	10	\$305.92*	\$3,059.20	No Bid	No Bid	
41.	National Office Furniture	WAVEWORKS,30DX30W, SURFACE,QUARTER ROUND,HPL	4	\$197.21*	\$788.84	No Bid	No Bid	
42.	National Office Furniture	WAVEWORKS,30DX60W, SURFACE, RECTANGULAR DESK,HPL	10	Included w/item 37*		No Bid	No Bid	
43.	National Office Furniture	FRINGE,CLUB CHAIR,ARMS,STATIC	2	\$1,029.24*	\$2,058.48	No Bid	No Bid	
44.	6416-13	CARNEGIE FABRICS	16 yds	\$97.44	\$1,559.04	No Bid	No Bid	
45.	National Office Furniture	RENO,24DX24W,END TABLE,SQUARE, LAMINATE	3	\$722.07*	\$2,166.21	No Bid	\$274.44*	\$823.32
46.	National Office Furniture	FRINGE,HIGH BACK,TWO SEAT,ARMLESS, CONTRASTING	4	\$1,734.57*	\$6,983.28	No Bid	No Bid	
47.	9141988	MOMENTUM TEXTILES	20 yds	\$89.10	\$1,782.00	No Bid	No Bid	

				dba Contrac	olace Solutions et Furnishings C (Option 1)	dba Contra	olace Solutions et Furnishings C (Option 2)
Item#	Manufacturer Part Number	Description	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1.	SitOnIt 5642	SitOnIt Focus Side Chair	85	\$136.17*	\$11,574.51	\$136.17*	\$11,574.51
2.	SitOnIt 1011 FT1	SitOnIt Lumin Four Leg	100	\$84.01*	\$8,401.18	\$105.00*	\$10,500.00
3.	SitOnIt Torsa 6023	SitOnIt Torsa (Fog Striped)	10	\$264.81*	\$2,648.10	\$230.58*	\$2,305.80
4.	SitOnIt Torsa 6023	SitOnIt Torsa (Onyx Striped)	24	\$264.81*	\$6,355.43	\$230.58*	\$5,533.92
5.	CLARUS	4'x8' Colors By Clarus Float Glassboard	8	\$394.60*	\$3,156.80	\$394.60*	\$3,156.80
6.	CLARUS	BOX TRAY (Magnetic)	6	No Bid		No Bid	
7.	Peter Pepper	PETER PEPPER 72w X 72h X 18D GLIDING DOOR GLASS CASE; NATURAL	1	No Bid		No Bid	
8.	Peter Pepper	PETER PEPPER 72w X 48h X 18D GLIDING DOOR GLASS CASE; NATURAL	1	No Bid		No Bid	
9.		LINEAR LIGHTING LOW VOLTAGE HALOGEN FOR 72W CASE	1	No Bid		No Bid	
10.		4"H PLINTH FOR LIGHTING	1	No Bid		No Bid	
11.	National Office Furniture	RENO,24DX24W,END TABLE,SQUARE, LAMINATE	1	\$238.13*	\$238.13	\$238.13*	\$238.13
12.	National Office Furniture	SWIFT,ONE SEAT LOUNGE	1	\$680.82*	\$680.82	\$680.82*	\$680.82
13.	National Office Furniture	FRINGE,BENCH, TWO SEAT	2	\$640.92*	\$1,281.84	\$640.92*	\$1,281.84
14.	National Office Furniture	FOOTINGS,40WX28H,X BASE,STATIC	22	\$356.75*	\$7,848.50	\$177.07*	\$3,895.58
15.	National Office Furniture	FOOTINGS,48DIA, ROUND TOP,HPL	22	\$226.95*	\$4,992.93	\$187.87*	\$4,133.05
16.	Herman Miller	+Connect Single Circuit Electrical By-Pass Jumper, 12"	1	No Bid		No Bid	
17.	Herman Miller	+Connect Single Circuit Electrical Power Entry, 10' cord	1	No Bid		No Bid	
18.	Herman Miller	+Connect S740 Single Circuit Power Unit, 2 simplex	2	No Bid		No Bid	

No Bids

19.	National Office Furniture	FOOTINGS,28DX100WX2 8H,Y BASE KIT PLATINUM METALLIC	1	\$388.21*	\$388.21	\$341.65*	\$341.65		
20.	National Office Furniture	FOOTINGS,48DX120W,B OAT TOP,HPL SOFTENED PVC,SABLE	1	\$733.41*	\$733.41	\$388.94*	\$388.94		
21.	National Office Furniture	ACQUAINT,BARIATRIC,S LAT BACK,ARMS	2	\$763.39*	\$1,526.78	\$763.39*	\$1,526.78		
22.	National Office Furniture	ACQUAINT,GUEST,HALF UPH	3	\$509.50*	\$1,528.49	\$509.50*	\$1,528.49		
23.	INSPIRE-M	ARCHITEX,	6 yds	No Bid		No Bid			
24.	National Office Furniture	ACQUAINT,GUEST, FULLY UPH	6	\$509.50*	\$3,056.98	\$509.50*	\$3,056.98		
25.	INSPIRE-M	ARCHITEX	24 yds	No Bid		No Bid			
26.	National Office Furniture	SWIFT,ONE SEAT LOUNGE	3	No Bid		No Bid			
27.	9141977	MOMENTUM TEXTILES	24 yds	No Bid		No Bid			
28.	National Office Furniture	RENO,24DX24W,END TABLE,SQUARE, LAMINATE	4	No Bid		No Bid			
29.	National Office Furniture	CONFERENCE,32WX28H, FOUR STAR	1	Included w/item 30		Included w/item 30			
30.	National Office Furniture	WAVEWORKS,42DIA,SU RFACE,ROUND,HPL SOFTENED PVC,SABLE	1	\$293.84*	\$293.84	\$293.84*	\$293.84		
31.	National Office Furniture	CONFERENCE,32WX28H, FOUR STAR	1	Included w/item 32		Included w/item 32			
32.	National Office Furniture	WAVEWORKS,42DIA, SURFACE,ROUND,HPL	1	\$293.84*	\$293.84	\$293.84*	\$293.84		
33.	National Office Furniture	FOOTINGS,40WX28H,X BASE,STATIC	3	\$356.75*	\$1,070.25	\$356.75*	\$1,070.25		
34.	National Office Furniture	FOOTINGS,48DIA, ROUND TOP,HPL	3	\$226.95*	\$680.85	\$226.95*	\$680.85		
35.	Herman Miller	+Connect Single Circuit Electrical Power Entry, 6' cord	2	No Bid		No Bid		Trendway	Corporation
36.	Herman Miller	+Connect Ganging Bracket Kit	14	No Bid		No Bid		Wenger C	orporation
37.	National Office Furniture	BASE SUPPORT,21WX28H,T- LEG BASE,STATIC, PLATINUM,PKG	10	\$167.23*	\$1,672.30	\$167.23*	\$1,672.30	Brodart Co.	Concept Seating
38.	Herman Miller	+Connect S740 Single Circuit Power Unit, 2 Simplex Rcpt, 1 Data	10	No Bid		No Bid		Macbiz Solutions	Mitylite
39.	Herman Miller	+Connect Single Circuit Electrical By-Pass Jumper, 12" long	4	No Bid		No Bid		Design Central, Inc.	Evans Consoles

40.	National Office Furniture	ACCESSORIES,48WX12H, MODESTY PANEL,RESIN	10	\$111.88*	\$1,118.83	\$111.88*	\$1,118.83	Modern Office Furniture	Moduform
41.	National Office Furniture	WAVEWORKS,30DX30W, SURFACE,QUARTER ROUND,HPL	4	\$137.96*	\$551.85	\$137.96*	\$551.85	Global Industrial	Integrated Facilities Group
42.	National Office Furniture	WAVEWORKS,30DX60W, SURFACE, RECTANGULAR DESK,HPL	10	\$252.63*	\$2,526.33	\$252.63*	\$2,526.33	Norix Furniture	Officefurnitur e.com
43.	National Office Furniture	FRINGE,CLUB CHAIR,ARMS,STATIC	2	No Bid		No Bid		Kansas Contract Design	KI
44.	6416-13	CARNEGIE FABRICS	16 yds	No Bid		No Bid		Southern Office Supply, Inc.	Spaces, Inc.
45.	National Office Furniture	RENO,24DX24W,END TABLE,SQUARE, LAMINATE	3	No Bid		No Bid		K-Log	LK Goodwin Company
46.	National Office Furniture	FRINGE,HIGH BACK,TWO SEAT,ARMLESS, CONTRASTING	4	No Bid		No Bid		SW Med- Source	Total Installation
47.	9141988	MOMENTUM TEXTILES	20 yds	No Bid		No Bid		Total In	stallation

On the recommendation of Kimberly Bush, on behalf of Facilities Project Services, Jennifer Dombaugh moved to accept the bids as indicated in bold above for a total cost of \$88,959.90. Talaya Schwartz seconded the motion. The motion passed unanimously

These are various furniture items to complete the furnishings for the new Law Enforcement Training Center currently under construction on the Innovation Campus. These items include furniture for private offices, fitting rooms, break rooms, lobby area, photo studio, exam room, classrooms and conference rooms. This purchase is within the budget for LETC FF&E. The City of Wichita will be reimbursing the county for half the cost of this purchase.

Note-Please see the Analysis tab for a more detailed breakdown of grouped items that are being awarded as overall low bids.

*Indicates approved alternate was bid.

Questions and Answers

Tom Stolz: Questions?

Talaya Schwartz: Is this all inclusive of the remaining furniture that will be needed for this project or will there be more coming?

Tania Cole: Good morning Bid Board. Tania Cole, Director of Facility Maintenance and Project Services. There may be a few more items such as lateral files but other than coming before Bid Board, this would be it for the furniture.

Tom Stolz: In fact, this will be the last Bid Board item for LETC totally won't it?

Tania Cole: That's correct.

 sel	ect	ed	Lo	W	В
	\$1	1,5	74	.5	1

2	\$8,401.18
3	\$2,305.80
4	\$5,533.92
5	\$3,156.80
6	\$0.00
7	\$5,899.00
8	\$4,766.50
9	\$876.71
10	\$103.00
11	\$238.13
12	\$485.48
13	\$1,090.14
14	\$3,972.54
15	\$3,853.08
16	\$39.32
17	\$200.49
18	\$418.28
19	\$378.95
20	\$888.16
21	\$1,192.54
22	\$1,341.12
23	\$436.56
24	\$3,906.78
25	\$0.00
26	\$2,215.05
27	\$2,138.40
28	\$1,097.76
29	\$0.00
30	\$293.84
31	\$0.00
32	\$293.84
33	\$557.07
34	\$590.19
35	\$168.64
36	\$567.84
37	\$1,451.50
38	\$1,709.50
39	\$147.44
40	\$1,294.70
41	\$638.64
42 43	\$3,223.10
	\$692.56
44	\$1,813.28
45	\$823.32

\$6,325.44 \$1,858.80 \$88,959.90 incl

incl

				Scot	Scott Rice		John A. Marshall Co.		Furniture by William		Encompas		Pure Workplace		orkplace
5.	CLARUS	4'x8' Colors By Clarus Float Glassboard	8	\$2,111.75	\$16,894.00	\$1,629.88	\$13,039.04	\$2,288.00	\$18,304.00	\$1,719.28	\$13,754.24	\$394.60*	\$3,156.80	\$394.60*	\$3,156.80
6.	CLARUS	BOX TRAY (Magnetic)	6	\$43.47	\$260.82	\$46.65	\$279.90	\$93.50	\$748.00	\$60.30	\$361.80	No Bid		No Bid	
					\$17,154.82		\$13,318.94		\$19,052.00		\$14,116.04				\$3,156.80

				Scott	Rice	John A. M	arshall Co.		by William ebb	Enco	mpas
7.	Peter Pepper	PETER PEPPER 72w X 72h X 18D GLIDING DOOR GLASS CASE; NATURAL	1	\$5,899.00	\$5,899.00	\$6,627.14	\$6,627.14	\$6,911.50	\$6,911.50	\$6,532.52	\$6,532.52
8.	Peter Pepper	PETER PEPPER 72w X 48h X 18D GLIDING DOOR GLASS CASE; NATURAL	1	\$4,766.50	\$4,766.50	\$4,405.86	\$4,405.86	\$5,705.80	\$5,705.80	\$5,269.43	\$5,269.43
9.		LINEAR LIGHTING LOW VOLTAGE HALOGEN FOR 72W CASE	1	\$876.71	\$876.71	\$1,182.86	\$1,182.86	\$1,057.00	\$1,057.00	\$887.40	\$887.40
10.		4"H PLINTH FOR LIGHTING	1	\$103.00	\$103.00 \$11.645.21	\$138.57	\$138.57 \$12.354.43	\$124.00	\$124.00 \$13.798.30	\$887.40	\$887.40 \$13,576.75

				Staples Adva	Business ntage	John A. M	arshall Co.		by William ebb	Enco	mpas		Business ent, Inc.	Office Plus	s of Kansas		orkplace (Option 1)		orkplace (Option 2)
14.	National Office Furniture	FOOTINGS,40WX28H,X BASE,STATIC	22	\$306.68	\$6,746.96	\$285.05	\$6,271.10	\$348.50	\$7,667.00	\$388.68*	\$8,550.96	\$180.57*	\$3,972.54	\$185.69*	\$4,085.18	\$356.75*	\$7,848.50	\$177.07*	\$3,895.58
15.	National Office Furniture	FOOTINGS,48DIA, ROUND TOP,HPL	22	\$399.08	\$8,779.76	\$370.95	\$8,160.90	\$453.50	\$9,977.00	Included*		\$175.14*	\$3,853.08	\$196.73	\$4,328.06	\$226.95*	\$4,992.93	\$187.87*	\$4,133.05
					\$15,526.72		\$14,432.00		\$17,644.00		\$8,550.96		\$7,825.62		\$8,413.24		\$12,841.43		\$8,028.63

					Business ntage	John A. M	larshall Co.		by William ebb	Enco	mpas	Galaxie Equipm	Business ent, Inc.	Office Plus	s of Kansas	Pure Wo	orkplace (Option 1)		orkplace (Option 2)
16.	Herman Miller	+Connect Single Circuit Electrical By-Pass Jumper, 12"	1	No Bid		\$39.32	\$39.32	\$38.04	\$38.04	Included w/item 20*		No Bid		No Bid		No Bid		No Bid	
17.	Herman Miller	+Connect Single Circuit Electrical Power Entry, 10' cord	1	No Bid		\$200.49	\$200.49	\$193.95	\$193.95	Included w/item 20*		No Bid		No Bid		No Bid		No Bid	
18.	Herman Miller	+Connect S740 Single Circuit Power Unit, 2 simplex	2	No Bid		\$209.14	\$418.28	\$202.31	\$404.62	Included w/item 20*		No Bid		No Bid		No Bid		No Bid	
19.	National Office Furniture	FOOTINGS,28DX100WX28 H,Y BASE KIT PLATINUM METALLIC	1	\$362.56	\$362.56	\$378.95	\$378.95	\$412.00	\$412.00	Included w/item 20*		\$343.59*	\$343.59	\$336.20*	\$336.20	\$388.21*	\$388.21	\$341.65*	\$341.65
20.	National Office Furniture	FOOTINGS,48DX120W,BO AT TOP,HPL SOFTENED PVC,SABLE	1	\$868.95	\$868.95	\$888.16	\$888.16	\$912.50	\$912.50	\$2,090.05*	\$2,090.05	\$402.53*	\$402.53	\$408.18*	\$408.18	\$733.41*	\$733.41	\$388.94*	\$388.94
							\$1,925.20		\$1,961.11		\$2,090.05								

					Business antage	John A. M	íarshall Co.		by William ebb	Enco	ompas	Office Plu	s of Kansas	Pure Wood	orkplace (Option 1)		orkplace (Option 2)
22.	National Office Furniture	ACQUAINT,GUEST,HALF UPH	3	\$447.04	\$1,341.12	\$484.70	\$1,454.10	\$508.00	\$1,524.00	\$451.87*	\$1,355.61	\$651.13*	\$1,953.39	\$509.50*	\$1,528.49	\$509.50*	\$1,528.49
23.	INSPIRE-M	ARCHITEX,	6 yds	\$72.76	\$436.56	\$81.33	\$487.98	\$61.87	\$371.22	\$70.50	\$423.00	Included		No Bid		No Bid	
					\$1,777.68		\$1,942.08		\$1,895.22		\$1,778.61		\$1,953.39				

_					Business intage	John A. M	Iarshall Co.		by William ebb	Enco	mpas	Office Plus	s of Kansas		orkplace (Option 1)		orkplace (Option 2)
24.	National Office Furniture	ACQUAINT,GUEST, FULLY UPH	6	\$462.44	\$2,774.64	\$344.34	\$2,066.04	\$525.50	\$3,153.00	\$431.92*	\$2,591.52	\$651.13*	\$3,906.78	\$509.50*	\$3,056.98	\$509.50*	\$3,056.98
25.	INSPIRE-M	ARCHITEX	24 yds	\$72.76	\$1,746.24	\$81.33	\$1,951.92	\$61.87	\$1,484.88	\$70.50	\$1,692.00	Included		No Bid		No Bid	
					\$4,520.88		\$4,017.96		\$4,637.88		\$4,283.52		\$3,906.78				

					Business ntage	John A. M	larshall Co.		by William ebb	Enco	ompas
26.	National Office Furniture	SWIFT,ONE SEAT LOUNGE	3	\$1,023.44	\$3,070.32	\$639.41	\$1,918.23	\$1,163.00	\$3,489.00	\$738.35*	\$2,215.05
27.	9141977	MOMENTUM TEXTILES	24 yds	\$94.94	\$2,278.56	\$105.33	\$2,527.92	\$80.13	\$2,035.16	\$89.10	\$2,138.40
					\$5,348.88		\$4,446.15		\$5,524.16		\$4,353.45

					Business ntage	John A. M	arshall Co.		by William ebb	Enco	mpas	Pure W Solutions	orkplace (Option 1)		orkplace (Option 2)
29.	National Office Furniture	CONFERENCE,32WX28H, FOUR STAR	1	\$229.24	\$229.24	\$254.77	\$254.77	\$260.50	\$260.50	\$360.00*	\$360.00	Included w/item 30		Included w/item 30	
30.	National Office Furniture	WAVEWORKS,42DIA,SUR FACE,ROUND,HPL SOFTENED PVC,SABLE	1	\$165.44	\$165.44	\$183.78	\$183.78	\$248.00	\$248.00	Included		\$293.84*	\$293.84	\$293.84*	\$293.84
					\$394.68		\$438.55		\$508.50		\$360.00		\$293.84		\$293.84

					Business intage	John A. M	arshall Co.	Furniture l We	by William ebb	Enco	mpas	Pure Wo	orkplace (Option 1)		orkplace (Option 2)
31.	National Office Furniture	CONFERENCE,32WX28H, FOUR STAR	1	\$229.24	\$229.24	\$254.77	\$254.77	\$260.50	\$260.50	\$360.00*	\$360.00	Included w/item 32		Included w/item 32	
32.	National Office Furniture	WAVEWORKS,42DIA, SURFACE,ROUND,HPL	1	\$165.44	\$165.44	\$183.78	\$183.78	\$248.00	\$248.00	Included		\$293.84*	\$293.84	\$293.84*	\$293.84
					\$394.68		\$438.55		\$508.50		\$360.00		\$293.84		\$293.84

				Staples l Adva	Business ntage	John A. M	arshall Co.		by William ebb	Enco	mpas	Office Plus	s of Kansas	Pure W Solutions			orkplace (Option 2)
33.	National Office Furniture	FOOTINGS,40WX28H,X BASE,STATIC	3	\$306.68	\$920.04	\$290.14	\$870.42	\$348.50	\$1,045.50	\$397.60*	\$1,192.80	\$185.69*	\$557.07	\$356.75*	\$1,070.25	\$356.75*	\$1,070.25
34.	National Office Furniture	FOOTINGS,48DIA, ROUND TOP,HPL	3	\$399.08	\$1,197.24	\$377.57	\$1,132.71	\$344.50	\$1,033.50	Included		\$196.73*	\$590.19	\$226.95*	\$680.85	\$226.95*	\$680.85
					\$2,117.28		\$2,003.13		\$2,079.00		\$1,192.80		\$1,147.26		\$1,751.10		\$1,751.10

					Business	John A. M	farshall Co.		by William ebb	Enco	mpas		orkplace (Option 1)		orkplace (Option 2)
35.	Herman Miller	+Connect Single Circuit Electrical Power Entry, 6' cord	2	No Bid		\$84.32	\$168.64	\$185.17	\$370.34	\$238.40*	\$476.80	No Bid		No Bid	
36.	Herman Miller	+Connect Ganging Bracket Kit	14	No Bid		\$20.28	\$567.84	\$31.35	\$438.90	\$41.67*	\$583.38	No Bid		No Bid	
37.	National Office Furniture	BASE SUPPORT,21WX28H,T- LEG BASE,STATIC, PLATINUM,PKG	10	\$310.20	\$3,102.00	\$145.15	\$1,451.50	\$352.50	\$3,525.00	\$530.30*	\$5,303.00	\$167.23*	\$1,672.30	\$167.23*	\$1,672.30
38.	Herman Miller	+Connect S740 Single Circuit Power Unit, 2 Simplex Rcpt, 1 Data	10	No Bid		\$170.95	\$1,709.50	\$247.46	\$2,474.60	\$280.75*	\$2,807.50	No Bid		No Bid	
39.	Herman Miller	+Connect Single Circuit Electrical By-Pass Jumper, 12" long	4	No Bid		\$36.86	\$147.44	\$38.04	\$152.16	\$49.85*	\$199.40	No Bid		No Bid	
40.	National Office Furniture	ACCESSORIES,48WX12H, MODESTY PANEL,RESIN	10	\$205.92	\$2,059.20	\$129.47	\$1,294.70	\$234.00	\$2,340.00	\$305.92*	\$3,059.20	\$111.88*	\$1,118.83	\$111.88*	\$1,118.83
41.	National Office Furniture	WAVEWORKS,30DX30W, SURFACE,QUARTER ROUND,HPL	4	\$170.72	\$682.88	\$159.66	\$638.64	\$194.00	\$776.00	\$197.21*	\$788.84	\$137.96*	\$551.85	\$137.96*	\$551.85
42.	National Office Furniture	WAVEWORKS,30DX60W, SURFACE, RECTANGULAR DESK,HPL	10	\$178.20	\$1,782.00	\$322.31	\$3,223.10	\$262.50	\$2,625.00	Included w/item 37*		\$252.63*	\$2,526.33	\$252.63*	\$2,526.33
					\$7,626.08		\$9,201.36		\$12,702.00		\$13,218.12		\$5,869.31		\$5,869.31

				Staples	Business	John A. M	arshall Co.	Furniture	by William	Enco	mpas
43.	National Office Furniture	FRINGE,CLUB CHAIR,ARMS,STATIC	2	\$934.12	\$1,868.24	\$346.28	\$692.56	\$1,061.00	\$2,123.00	\$1,029.24*	\$2,058.48
44.	6416-13	CARNEGIE FABRICS	16 yds	\$100.00	\$1,600.00	\$113.33	\$1,813.28	\$86.22	\$1,429.50	\$97.44	\$1,559.04
•					\$3,468.24		\$2,505.84		\$3,552.50		\$3,617.52

				Staples	Business	John A. M	arshall Co.	Furniture b	y William	Enco	mpas
46.	National Office Furniture	FRINGE,HIGH BACK,TWO SEAT,ARMLESS, CONTRASTING	4	\$1,581.36	\$6,325.44	\$1,594.44	\$6,377.76	\$1,797.00	\$7,188.00	\$1,734.57*	\$6,983.28
47.	9141988	MOMENTUM TEXTILES	20 yds	\$92.94	\$1,858.80	\$105.33	\$2,106.60	\$80.13	\$1,639.08	\$89.10	\$1,782.00
					\$8,184.24		\$8,484.36		\$8,827.08		\$8,765.28